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COMMERCE |
: Performance Management
~ (CBCS Semester Scheme)
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Instructzons to Candzdates

| 1_) “Answers shOuI'd be written completely either 'in.'i{annada or in Engiisb.‘ 3

SECTION 'A L
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_ Answer any Flve sub- questlonS/ eac&@vr ct answer carries 2 marks o (5x2=10)
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: What do you mean by d1v151ona1 performance ? J/ R
A AR Jove] TODFFRS @ocsdeab ?

Define activity based costing.

RSV L R T Torct SR, aowdem 9

What is flexible budget 7
VO eﬁo:oas 03 QOB 7
What is hfe cycle costing ? ?
W 238, smon‘ eboddem ?
What i is Break even pomt ?
NaSJNé WO aocﬁdem ?

- What is zero based budget ? .
_ ei:aa 55008 503303 @owdem ?

What is contrlbutlon ?.
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-~ Answer any Three questlons each cortect answer carrles 6 marks. ' ":
e om@mdd@ et 3 B3nen cugon. X fmmw eme:ea 6eosned.

| 'Explam the prmcxples of target costmg

e 10 S SR S0k,

i Usmg the followmg 1nformatlon calculate
a) - Labour costvarience :
b)) - “Labour rate varience

) Labour efﬁcency varience
-~ Standard hours - 20000 hrs
" Actual hours = 2500 hrs

o Standard ‘wage rate - Rs. 15 ‘per hour
- Actual wage rate - Rs. 12.5 per hour -
33 39N TRESOW0T

a)  ZROBEHI,D , 4@

‘ 77b_)- ?553313(3&53033

o) B *adaai £ w 3 SRR aocsaaoéo&@

Gt ot - 20000 B "?q@y

90Res NOENed - 2500 L
ES) m%é‘ 80900 - Rs. 15 &, £l ﬁo&éﬁ
Nw mewc Rs. 12. 5 ] ﬁo&éﬁ

. The followmg 1nformat10n relates toa ﬁrm
*Selling price per unit Rs.25 -
- Variable cost per unit Rs.20
Fixed cost Rs.75, 000 '
- Find out:”
'a) BEPinunitsandin amount

b) Findout selling price per unit if BEP is brought down to 2 OOO units.

| B3 3UNE FnsINd W00 & NO owoqﬁ w&3€5’
- R0 WS @8 ORI RsZS -

BN a’»zﬁ D8 omzowﬁ Rs 20

4B R Rs 75,000
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~ Cost allocation basis are: -
Number of purchase order S ,
200
" 5,00,000.
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"Number of test .
"‘No of batch run

.Purchase order cost

Machme testmg cost’

: Mamtenance & eleanmg cost

Materral handlmg cost

Number of setup
Number of packaged product

No of tlmes matenal handled

S se;nas maoaﬁeozs a:?zs mee cscszre:ab oz
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5. e F rom the followrng calculate cost drlver rate:-
" Material setup cost .
- Product packmg cost

- 90, OOO' :

2,00,000

400000
1,15,000
. 1,50,000

s |

4,000

90 000

_' £3,00,000
©2,00,000
400,000
’*-1 15,000

15_0’000 L

50

. 5,00,000

4000
oo
500
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"6. The budgeted expenses for the productlon 0f20000 umts 1nafactory is ngen below -
S Elements ofcost - Costperumt I :
Materials I o ~1'50\_ |

 Labour - - | o S 100
_ Variable overheads RO 75

~ Fixed overheads (5,00 000) 2

| Variable expenses (Direct) - - | 20

~ Selling expenses (20% fixed) R .25

| Distribution expenses (25% fixed) | 15
" . Administration expenses (1,00,000 fixed) 10

" Prepare a flexible budget for the productlon of 10000 units. _

 BaRrdod 20000 o weedéojo 0TI ﬁzszﬁ%bée @%odoéd
_a"z'a‘JW awd R a)‘é odpdern

*aaﬁoﬁ'ﬁ@o R »”L_Wso.

FoOFIT 3 : S 160/@ ‘

: _ude:arbddaeo&ﬁzﬁzﬁ:o s Qq'?J/ o Lo
Nddow"'ﬁzsf%fo(dfeDSOOOOO) o2 I

|uBos s dgnsd 20 ‘ | o

| | Boats s (20% AT) | 25

| TR SYned (25% AT) . | 15 -

SB9B FPned (1,00,000 fixed) 10 |
10000 0300283 1Y BOZD 0305, 03T FoROK.
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: Answer any Three questlons each correct answer carries 14 marks. - (3x14=42) = |
cInRTREIR Roedd IR emsme %8 RociRcs u3oE 14 o8I0, B o

7. Explain the process of Performance ‘Management Informatlon Sys‘tem.’ B
- eaabreabé S FRladowd ag wﬁ DHZOX wdo:oe )



e product1on of 10000 units: The expenses mcurred are as follows
| Per Umt -

8 Total cost o
8000 Qmaw Z3y 12000 cmzow 280 €

nmnﬂnmlﬂlnlnn‘une}f

O .
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Prepare a ﬂex1ble budget from the followmg mformatlon for 8000 and 12000 umts For |

Partlculars

Rs.

e Direct Material

e ’ Varlable over heads |
F;xed over heads (Rs.3,0'O,‘OOO): B
_ Variable expenses/(Direct) '
o Selling expenses (10% fixed)
| Administrative expenses -
S (Rs 1,00,000 fixed for all levels of product1on :
s Distribution’ expenses (20% ﬁxed)lQ

Dlrect labour

120
50
e
10
0

10

320

10000 oda.ra@ésfﬁe@ﬁ Neemﬂd

&z%;méseo eocsoao@osoe 3 eema ez;;m

AL o7 UM WO cdo.raaésFﬁ »
e Rs)
| sec s mmon, 120
S 60
: r:uwmmwd,aeedzg’s - 50- |
| agabeo s (303,00,000) 30
| uoos s, 10
a:bwaés 5523,(10% &) 30
| oy Bodmen 40 ew@msa' '
| 53,(8.1,00,000) 10
L 20 3, (20% di) 10
| Wb, Sy, 320
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‘The bag manufacturing company sells different varities of bags where in the cost &
selling price is maintained same-for all. The company wants to expand its busmess whlch

would have the following expenses & revenues

Selling price per bag Rs.300

Variable cost per bag Rs. 195

Salesmen’s commission (variable) Rs.15 per bag ﬁxed expenses mcludes RentRs 60 000 o
' Salary - Rs.2,81,000, Advertisement - Rs.79,000 Sundrles Rs.30, OOO o
“You are requlred to. calculate : , :
"a)  Annual BEP in units & sales value .

- b). Profit/loss of the stores if 35,000 b‘ags are sold.

s 10.

2,000 239, BOARORB FOBROD 2005 SIRTO DG DeacdH e, AR, as’:adoéda ée
mamocsa oRRoly 330300 AEFOLE. 8T mﬁm @e;nsoscs :

 RSnoo8 253, (womd s ,7°73) Rs.300

BN m (2503 m nR) Rs.195

| SR BeRe (WBERTOR) (2,050 T 7% Rs.15 ' ~ T
23 5503, wwan Rs.60,000,700% Rs.2, 31, 000, EtorTno 5 Rs. 79 000 caad azs Rs. 30 000 g

& seme@ﬁe;m 2080 &0
a) oaFs ama 200 239 3% Rs. g,
b) 35,000 &, T SROLIR0 m

The standard cost of a certain components@%emlcal mixture is - -
40% Material ‘X’ - Rs.90 per ton . ) AT

60% Material “Y” - Rs. 70 per ton -

A standard loss of 10% is expected in production.

Actual cost of materials used is :

90 tons - Material ‘X’ - Rs.94 per ton

160 tons = Material Y’ - Rs.56 per ton" -

~ Actual output is 230 tons

Calculate all material variances. ,
20T TIRDOIINT &3, €933 T, 3658 33 u(ﬁeéa
40% ‘X’ ® mzﬁs‘ Rs 90 %, & 8335°R

60% .Y’ Toee Rs. 70 & %8 8N

'méémé 10% T wmsa aiw Eee%fo@aﬂcﬁ '
’asa,qéb% "aaﬁaﬁ ﬁzﬁuﬂ@o Lo

90 @3266 ‘X’ mwr %,8 W't Rs.94
160 &35 ‘Y’ @ons m 3° Rs.56 -
ONDISTIL eme‘acjé 230 &sa‘m?o

 Bieos o‘bwdﬁe&od PR, TN, T, ojamfﬁo 606&3 SRO000. |
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. -1'1 The budgeted overhead and cost dI‘IVCI' volumes of Sh1va Litd: are as follows

|ty

4 z?,@%qp'

Cost Pool Budgeted | Cost Driver 'Budgete‘d
-‘ »' vaerheéids'. | ?ﬂvolume Rs.
e

o Materlal Procurement | ’»3A,2.O,0()‘O ‘No.' of orders 800
Machme Set-up | '3.,'0'0,'000' No. ofsetups.’ 500 |
o _/:‘}Mamteuance 1,95,000‘ Maihtenance hours : | '}3;000; | )

: Quahty c‘)Iltro1 ,. % 1‘70 OOO. No. "of irlspections ' ‘. ,',,85,0

M No. of machme hours ‘2500(7‘) '

L Rs 2,40, 000 and labour cost was Rs. 4 60 ,000. The
S };_»follows

B -Ma.te,r_ial or'ders' |
: Setup »of 1h’aChines" '
s Malutenance houfs
' l\lo.. of lhspectiohs

_Machine'h'ours

Calculate the cost driver rates that are used for cornputmg the approprlate amount of overhead
to this batch and ascertam the cost of the batch of the component usmg the activity based

L costlng

30

35
700
40

2500 -

> ”The company has produced a batch of 3 O%éoﬂlgnents of ‘A’. Its material cost

[P.T.O.

was
act1v1t1es of thls batch are as .
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859 OQOHIE'T LOT%R BREIOINTVE e 523,303 WOT TOBIOE S 930083 :

SgAonEs | commo| Symes | somw Sndend] |
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shrosty, oo

mon, Doed | 320000 | edeneRes; | 800
oo mEs | 300000 mmsneess | . s00|
L ® ‘ e 3 | B
aRFEOE | 195000 | REFmsnound . 3,000|

RRSRAOFSD 170000 | soosgnedesy | 850)

osaosmso | azse0 'osaoamfae R 25000

i %szooja 20T wﬁ@o&:@%@om 3,000 es0Tiehe A’ BEEF 3030, B *'aa'bﬁ ms
353, Rs2,40,000 083 a0 <Rs 4,60, ooo THO3RENTO L st o3
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